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GENERAL INTELLIGENCE & REASONING
Questions : 25

1. Pointing to a boy in a photograph Akhil says, “He is the son of my mother’s only son’s
son”. How is Akhil related to that boy?
(A) Uncle (B) Brother (C) Father (D) Cousin
qﬁﬁﬁnﬁﬁmﬂa@%aﬁﬁﬁﬁgﬁaﬁﬁriﬁm,%ﬁﬁﬂrﬁﬁqmﬁﬁﬁi%ééaﬂ%a%r

e FrE WET O 3O @S § gt g 7
(A) ==V (B) IE () fomm (D) =R /A

Direction for questions 2 - 3:
U 2-3% forar foe:

In each of the following questions, some words are given which are related in some way.
The same relationship obtains among the words in one of the four alternatives given under it.
Find the correct alternative.

ﬁ%ﬁﬁnqnﬁﬁnﬁﬁifawaﬁﬁﬂqﬁsﬂﬁﬁﬁqﬁmﬂaﬁirmmim%lﬂ%ﬁﬁﬂqan
fepdt 1 & TR A vl o A T e ¥ 1 e e 97

Questions / 79 :

2. Lizard : Reptile : Insects
(A) Fox:Wolf: Forest (B) Fly : Insect: Bee
(C) Man : Omnivorous : Meat (D) Tiger : Mammal : Deer
TTRe « T : I
(A) wHET: g s (B) T : 2 WEEEE
(C) HIE : WEVRL : T (D) = wr

3.  Magazine : Story : Article
(A) Tea: Milk : Sugar (B) Television : Newspaper : Entertainment
(C) Bed :Quilt: Pellow (D) Novel : Drama : Literature
et : FEe : T
(A) I EY = (B) 2feifaeT : AR : WA
(©) T e « AR (D) 3T : T2 : Hifee

4. If + means +, X means -, + means ¥ and - means +, then
AP + &7 3+, % FTHT -, + 13 x and - F7 30 +, A
8+6x4+3-4=7
(A) -12 (B) -20/3 (©) 12 (D) 20/3
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A

1f NAXALITE is written in a certain code as LYVYJGRC, how will INTEGRATE be written
in the same code?

57 NAXALITE 1 frell fadm wrkfaes s LYVYJGRC & 9 ¥ femar s S R EaGED
T & INTEGRATE =1 o Wb ¥ ferwa s /
(A) LGRECYPRC (B) GLRCEPYRC (C) RYWMNOPQR (D) BLACKHOLE

o

Direction for questions 6 -8:
W 6 - 8 F T fagm:

In each of the following question a number series is given with one term missing. Choose
the correct alternative that will continue the same pattern and fill in the blank spaces.
ﬁﬂﬁuﬁﬁmﬁﬁmﬁmmmﬁmw%mﬁwww%mﬁﬁmﬁ

@ﬁwwﬁw@nﬁwmﬁﬂ@ﬁ1
Questions /7T :

5k BL. B8 =
(A) 128 (B) 144 (€ 192 (D) 256

7. 1, 6 15, _, 45, 66, 91
(A) 25 (B) 26 C) 27 (D) 28

8. 301, 291, 282, 274, __
(A) 265 (B) 268 (C) 270 (D) 267

9. Inarow of 60, A is standing at 10t from the right end, how many places should A move
left ward Lo become 237 from the left end?
60 i TE dfFT 3, A @i B 10T T W @ E gt BT 23 F v o AW F A
A Rt 3R & Freer Sl & Fe-aRaEdd T 957
(A) 25 (B) 26 ) 27 (D) 28

Direction for questions 10 -13:
w10 - 13 F fordr fdam

In each of the following questions, a pair of words is given. You are to study the relation
existing between them arfd then find out from the given alternatives, the pair of words that
bhears the same relation between them and indicate that on the answer sheet.

ﬁﬁﬁﬁuﬁmmﬁmﬁmwﬁamwﬁlmﬁmaﬁmﬁmﬁﬁﬂ
mﬁﬁ:a‘rgﬂﬁ%ﬁiﬁﬁlﬁaﬁm%tﬁmﬁﬂqﬁﬁﬁl

Questions / W9 :

10. Bear : Hibernation
(A) Man : Immigration (B) Bird : Migration
(C) Food : Adulteration (D) Frog : Aestivation

(]
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A

ﬂlﬁ{:%ﬁﬁ'ﬁfﬁf
(A) et smEEE (B) Wt wERE (C) mRTEEE (D) T il

11. Theft: Confess
(A) Flight: Dare  (B) Fault: Admit (C) Murder : Commit (D) Mistake : Agree
ElRET Gl
(A) F=H:H"H (B) &E:EEHR (C) T A (D) It ; FHewd

12. Triangle: Quadrilateral

(A) Cube: Trifold (B) Square : Rectangle
(C) Trident: Trapezium (D) Pentagon : Hexagon
(A) &= fasET (B) @& ;3 (C) i@ :®Acwa (D) Ha9fel : Wt

13. Textile : Mill
(A) Eggs:Hen (B) Coal: Mine (C) Food: Agriculture (D) Brick: Kiln
HUST : FHEET
(A) 33t (B) @rmem:@eEw  (C) HISE:FY (D) se:amEm

14. A man travels 3 km. to the West, turns left and goes 3 km., turns right and goes 1 km.,
again turns right and goes 3 km. How far is he from the starting point?

we st 3 fRd, afeaw F T A € e A e gga € ud 3 PR, s 8, e s
Tt & a1 Foet, e ) fire 2l o e & i 3 fardl. s ¥ A e | 9E e o sws
Rt g @ ?

(A) 7km/fEd.  (B) ekmy/FEH. (O Skemy/fEEL (D) 4 km/ Tt

Direction for questions 15-16:
w15 - 16 % fore fadar:

In the following questions, each of the given letter sequences have some letters missing,
which are given in that order as one of the four alternatives under it. Find the correct
alternative.

ﬁlﬁﬁ!ﬁamﬁfﬂ,ﬁﬂmmm*ﬂ##@mwﬁa‘rﬁ*aﬁf&m‘f#ﬁﬁﬂhﬁ#
fer aw §)| af T @ g

Questions/q¥7 :

% . B & € a . b e b . a8 bc _ e a
(A) acbb | (B) aacb (C) abcc (D) abbc

6. a b __ a a b a b b _ aba _ ba _ b
(A) bbaa (B) abba (C) aaab (D) baba
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17. Which pair of English letters should be the next in the series of pairs of letters of English
alphabet given below?
A far T iR Al 3 SirEl & wa | aerer et $ |5 2
BE GK MR TZ BI
(A) IR (B) K5 © I (D) KR

Direction for questions 18 - 19 :
WA 18-19%F v Fder:

In each of the following questions, four pairs of words are given out of which the words in
the four pairs bear a certain relationship. Choose the pair in which the words are differently
related.

P el e #, weet & o A2 R o §, G & 9w S 7w v Bftag
HAY W §1 30 S A o O e e e & wefhe ¥

Questions/d9 :

18. (A) Oil: Lamp (B) Water: Tap (C) Oxygen:Life (D) Power:Machine
(A) ae: & (B) &Y o (C) 3ffFdistt: shasr (D) &rdar: Al

19. (A) Beautician : Parlour (B) Chemist: Medicine
(C) Lawyer: Court (D) Engineer : Site
(A) =afe®uw:awrR (B) &@Pwe:aar (C) @ha:®e (D) Sonfaay: e

20. If BAT =40, AT =20 then CAT will be equal to
If BAT =40, AT =20a CAT & FUaL g
(A) 70 (B) 50 (©) 60 (D) 30

Direction for questions 21 - 25 :
R 21 - 25 3 forg Forder :
Study the following information to answer the given questions.

frferfaa St &1 areaas &Y aifv e f2e 7o geat Hrowe d)

The members of a bank are Mr. Arora, Mr. Bharadwaj, Mrs. Chauhan, Miss Dutta, Mr.
Eknath and Miss Pal. The positions they occupy are manager, assistant manager, cashier,
stenographer, teller and clerk, though not necessarily in that order. The assistant manager is the
manager’s grandson. The cashier is the stenographer’s son-in-law. Mr. Arora is a bachelor. Mr.
Bharadwaj is 22 years old, Miss Dutta is the teller’s step-sister and Mr. Eknath is the manager'’s
neighbor. Mr. Bharadwaj cannot have a grandson or son-in-law as he is only 22 years old.

fireew e, Freex wear, st dter, e o, fives v o f o o de & e &1 &
HATTY, WET Hoor, HiI, R, S 3R aerd B At F ot & a1t ot e & R e A g
HES AW, HToiR T dielT 8 HRRR AR 31 ame # e akter st & e waer 22 26 H &
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ﬁﬁaﬂﬁmﬁmﬁﬁﬁm’aaﬂ?ﬁmwﬁmﬁm@ﬁﬁ Frre ST T 1S T a7 aIE A &

uiifes a8 dherer 22 99 H &l
Questions / W :

71. Who is the manager?
(A) Mr. Arora
HoyoT T 87

(A) Poreex arieT (B)

(B) Mr. Bharadwaj (C) Mrs. Chauhan

freer e (C) el dter

22, Who is the assistant manager?

(A) Mr. Arora (B)
HERT Heo i 87

(A) ey s (B)

23.  Who is the cashier?
(A) Mr. Arora (B)
Hfdpr S 82
(A) Free T (B)

24, Who is the stenographer?
(A) Mrs. Chauhan (B)
AR B 87

(A) et =erT (B)

25. Who is the teller?
(A) Mr. Arora (B)
o B 87

(A) et ke (B)

GO ON TO THE NEXT PAGE

Mr. Bharadwaj (C) Mr. Eknath

forer AT (C) e

Mr. Bharadwaj (C) Mr. Eknath

fpres weErt (C) fozex gt

Mr. Bharadwaj (C) Mr. Eknath

e wae  (C) PR @™

Mrs. Chauhan  (C) Mr. Eknath

afyerelt <iEE (C) Py

-'J\ PT 3y ."'\

(D)
(D)

(D)
(D)

(D)
(D)

(D)
(D)

D)
D)

Miss Dutta

EEEG]

Miss Dutta

fore =T

Miss Pal

g grer

Miss Dutta

forer &

Miss Pal

A a1t



27,

30.

NUMERICAL APTITUDE
Questions : 25

(637+478) —(637-478)" _
(637%478) '
(A) 2 (B) 4 (C) 159 (D) 1115

Which of the following numbers is NOT a square of any natural number?

fﬁmﬁﬁaﬁﬁﬂaﬂaﬁrﬁwﬁ:ﬁraﬁwﬁwmaﬁaﬁh

(A) 34692 (B) 4096 © 15309 (D) None of these/57% ¥ % widf
IEA:B:C=2:3:4 then &:B.C o
B'C A
e A:B:C=2:3:4, D.B.C o
B C A
(A) 8:9:16 (B) 8:9:12 (C) 4:9:16 (D) 8:9:24

10 pipes of the same diameter can fill a tank in 24 minutes. If 2 pipes go out of order, how
long will the remaining pipes take to fill the tank?

oF & s & 10 9T 24 BEe F UE iF @ s oahg §1 9% 2 WeY e @ 9§,
arfr T asy & Y ot fhaer wH o
(A) 30 min/fBee  (B) 40min/@se  (C) 45min/BEe (D) 19 min/fwe

(0.9% of 450) + (0.2% of 250) =?
(450 T 0.9%) + (250 F70.2%) =?
(A) 5.04 (B) 75 (C) 8.1 (D) 9.1

A boat is rowed downstream at 15.5 km/hr and upstream at 8.5 km/hr. The speed of the
stream is

(A) 3.5 km/hr. (B) 575km/hr. (C) 6.5 km/hr. (D) 7km/hr.

UF A R & W 15.5 f ofy der iR urr & g 8.5 Rl wfd der & sl §1 A anr
& afey ¥

(A) 35fmirder  (B) S575Rmfrder  (C) 65Rwler (D) 7 ResEe

Direction for questions 32 - 34:

Uy 32 - 34 & fea e

All the 30 students of a class took a test on Mathematics and a test on English. The

following table shows the result.

forelt e 3 30 B 0wl feredt % wfors wd st | e fod | Frafafaa gE s S

Tefvid Fa )
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[ Subject/fam Passed/ 390 | Failed/™d

Mathematics/ Ui 25 5
English/ #U=0 2 8
Two students failed both in Mathematics and English.
21 femelt wiforer A sfh Ay Tt e g
Questions /7% :
32.  How many students failed in only one subject?
forery fenedt ok e @ fma # e gd 7
(A) 28 (B) 25 © 2 (D) 9
33, How many students passed in at least one subject?
ey ool = & W O e B T R 2
(A) 28 (B) 25 (C) 22 (D) 9
34, How many students passed in both the subjects?
Fapery feremedt it fererat 3 ey ot 2
(A) 28 (B) 25 € 22 (D) 19
369 39
25 The LCM.of >, 2.2 is/ =2, & Wgrs wAMacd
4 il R :
3
A) 18 B) 3 5 I D) —
() (®) @ = © o
96. If the sum of three consecutive numbers is more than the middle number by 130, then the
middle number is
ﬂf&ﬁﬂmﬁﬁﬂ@ﬁ#ﬂmﬂmﬂiﬁrﬁwﬁﬁﬂaﬁwtﬁm#m%
(A) 64 (B) 65 (C) 66 (D) 60
37. At which sum the simple interest at the rate of 3%% per annum will be Rs. 210 in 2—;-
years ?
(A) Rs.1580 (B) Rs. 2400 (C) Rs. 2500 (D) None of these
st 3% s 1 a0 & U s o A A e 2 a9 3 210 TR 2
(A) 1580 ¥ (B) 2400 % (C) 2800 T (D) T & i T
38. January 1, 2008 is Tuesday. What day of the week lies on January 1, 20097

(A) Monday (B) Wednesday (C) Thursday (D) Sunday

GO ON TO THE NEXT PAGE APT_A 7



39.

40.

A

1m.zﬂmmmgtmlmﬁ.zm9ﬂmmﬂﬂm%ﬂm
(A) wHIX (B) a&waEr (C) Far (D) EER

-1

Bina and Meena together can finish a job in 8 days. Bina can do the same job on her own in
12 days. How long will Meena take to do the job by herself ?
mmmwmﬁﬁﬂ?#wmﬁwmwﬁr%l AT HFS & 3T FA # 12

Rft 3F ¢ Tt B ar AT 3 e A BT A fede gAT A9l ?
(A) 16days/Ret (B) 20days/fer (C) 24 days/fe=tt (D) 30 days/ Rt

How many meters of carpet 63 m wide will be required to cover the floor of a room 14 m %
m ?

1498 x 05y & uH FAY 7 63 A M vF FRA B Ronr F Qe e At & smaawdr
g

(A) 200 m/#r (B) 210 m/=r (C) 220 m/# (D) 185m/30

Direction for questions 41 - 45:

W 41 - 45 % fod

Each question is followed by two statements (1) and (2).

e W AR A A (1) @ () R E

Indicate/ 'ﬁ'ﬁ'ﬁ &I

(A) if Statement (1) ALONE is sufficient, but Statement (2) alone is not sufficient
s s e (1) wira &, W fad A (2) v T E

(B) if Statement (2) ALONE is sufficient but Statement (1) alone is not sufficient
stk e (2) Wi £, v fd A (1) i T E

(C) if EACH statement ALONE is sufficient

ST Wl AT e ST & v §
(D) if Statements (1) and (2) TOGETHER are NOT sufficient
s A (1) A (2) wEE e 6l R
Questions /99 :
41. Isx>y?/#Fx>y?
(1) x=y+2
x
(2) e A 1
42. Last year the average salary of the 10 employees of Company X was Rs. 42800/-. What is

the average salary of the same 10 employees this year ?
(1) For 8 of the 10 employees, this year’s salary is 15 percent
greater than last year's salary.
(2)  For 2 of the 10 employees, this year’s salary is the same as last
year's salary.

GO ON TO THE NEXT PAGE APT_A 8
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ﬁwﬂaﬁmﬂx$1uﬁaﬁﬁmmﬁm4quﬁ1wluﬂwﬁwmm
v = et @it 7
(1 tﬂﬂﬁaﬂaﬁmsﬂa&mmﬁsﬂﬁ#mwm
aifirs &)
(2) mﬁﬁzmmﬂmmaﬂmmm@ﬂﬁﬂmﬁh

43. In a certain classroom, there are 80 books, of which 24 are fiction and 23 are written in
English. How many of the fiction books are written in English ?
(1) ©Of the fiction books, there are 6 more that are not written in
English than are written in English.
(2) Of the books written in English, there are 5 more nonfiction
books than fiction books.
farelt T e 80 THE uﬂﬁmﬂnmﬂm%q&ﬁﬁﬁﬁﬁm%lﬁmﬁmﬁwﬂi irh
} foran mn & 7
(1) maﬂwﬂﬁaﬁ?ﬁﬂfﬁ@ﬂwﬁaﬂm&mwﬁ
st e feredt § ¥
(2) ﬁﬁﬁﬁa@nﬁgﬁﬁﬁﬁmﬁaﬁﬂhﬁmﬁm5mw
IR A E

4. If nisan integer, isn+1 odd?
(1) n+2isan even integer.
(2) n-1isanodd integer.

(1) n + 2 0 @ O &)

45. The hypotenuse of a right triangle is 10 cm. What is the perimeter, in centimeters, of the

triangle ?
(1) The area of the triangle is 25 sq.cm.

(2) The two legs of the triangle are of equal length.
fapet T mﬁﬁ’ttumﬁﬂmaﬂqﬁﬁ:ﬁa’rﬁzﬂ 0 @it 7

(1) Frron A 25 A A

(2) Fogiron a1 2 AT AR AT w R

e ————
46, Vikash bought 20 dining tables for Rs. 12000 and sold them at a profit equal to the selling

price of 4 dining tables. The selling price of each dining table is
(A) Rs.700 (B) Rs.750 € Rs.75 _ (D) Rs.775
far A -izmﬁm#m@ﬁﬁwm@ﬂ&mm4 asﬁnéaﬁﬁaﬁﬁamqmaiwamﬂia

Faan;reﬁaigﬁﬁ'réﬁ—rmﬁwq;w%
(A) 700 TR (B) 750 79 (€) 725¢ (D) 775 ¥

GO ON TO THE NEXT PAGE APT_A




47.

49.

A

A 415 m long, train is running at 63 km/hr. In how much time will it cross a tunnel 285 m
long?

415 At &l v I 63 Bl ufy der &y 9y & aw W ¥ 285 Aex @l oE gOr 9w
FA A 50 o w77 T

(A) 39sec/qdE  (B) 40sec/dd3  (C) 4lsec/qHs (D) 42 sec/ w3

The average weight of A, B, C is 45 kg. If the average weight of A and B is 40 kg and that
of B and C is 43 kg, then the weight of B is

A, B, C @& 3a aste 45 Rl &) afr A 3t B & aftwa aeer 40 fRel B AR B C &
BIFAtarBwHaaa g

(A) 17kg/fal  (B) 20kg/fear  (C) 26kg/frst (D) 31 kg/Rreh

A is twice as fast as B and B is thrice as fast as C. The journey covered by C in 42 minutes
will be covered by A in

A, B 29FT @Y & 3R B, C & Repm amh 1 C, 42 Weie # A g A & ar A A
qfl & A @A Fonm

(A) 7min/fwe  (B) l4min/Bee () 28min/fwe (D) 63 min/BEE

Five years ago, Mohan's age was one-third of the age of Suresh and now Mohan's age is
17 years, What is the present age of Suresh 7

Ui W TESY, SYE B 95 GRe Y 97 B G- of ik o AveT 37 17 7 & ey At < I
feperft &2

(A) 9years/ad (B) 36years/a§  (C) 41years/ad (D) 5l years/a¥

10
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GENERAL ENGLISH
Questions : 50

Direction for questions 51 - 55:
Choose the word which is nearest in meaning to the bold typed word.
Questions:

51.  The officer was divested of all power.
(A) Bared (B) Denuded (C) Dispossessed (D) Disrobed

52, Heis liked by all for his candid behaviour.
(A) Social (B) Simple (C) Frank (D) Sociable

53.  Man has to encounter many hardships in life.
(A) solve (B) face (C) bear (D) overcome

54. As a speaker he was an utter failure.
(A) total (B) partial (C) completely (D) relative

55. No one expects a facile solution to the Kashmir problem.

(A) satisfactory (B) easy (C) satisfying (D) difficult

Direction for questions 56 - 61:

Choose the best word or expression to complete the sentences.

Questions:
56. He lives in the world of
(A) allusions (B) illusions (C) conclusions (D) delusions
57.  The husband was taken aback when his wife to him that she him for
his money. 1
(A) revealed .... had married (B) declared .... married
(C) revealed .... married (D) confirmed .... has married
58. We don't know what __ him to commit his crime.
(A) excited (B) roused (C) prompted (D) attracted
59. Now itis difficulttocarry __ this business in the teeth of stiff competition.
(A) out (B) on (C) off (D) forward
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60. What you say now is not with what you __last week.
(A) agreeing....said (B) consistent....said
(C) corresponding,....uttered (D) comparable... spoke
61.  We must provide our children evil days.
(A) with..._ for (B) for....against (C) to...for (D) from....for

Direction for questions 62 - 66:

In each of the following questions various words are given, one of which is wrongly spelt.
Find out the WRONGLY SPELT word.

Questions:

62. (A) Loqacious (B) Austere (C) Agony (D) Nutritious
63. (A) Omniscent (B) Fertile (C) Saturnine (D) Accessory
64 (A) Sonorus (B) Nebulous (C) Exodus (D) Noxious
65. (A) Exonerate (B) Degenerate (C) Denigrate (D) Invertirate
66. (A) Churlish (B) Slopy (C) Persuade (D) Ingenuous

Direction for questions 67 - 71:
Read the following passage carefully and answer the related questions.

PASSAGE

Most of us use the products of science-railways, aeroplanes, electricity, wireless and
thousands of others - without thinking how they came into existence. We take them for
granted, as if we were entitled to them as a matter of right. And we are very proud of the fact
that we live in an advanced age and are ourselves so very “advanced’. Now, there is no doubt
that our age is a very different one from previous ages and I think it is perfectly correct to say
that it is far more advanced. But that is a different thing from saying that we as individuals or
groups are more advanced. It would be the height of absurdity to say that because an engine-
driver can run an engine and Plato or Socrates could not, the engine-driver is more advanced
that, or is superior to Plato or Socrates, But it would be perfectly correct to say that the engine
itself is a more advanced method of locomotion than Plato’s chariot was.

Questions:
67. People today are very proud because they liveina advanced age.
(A) philosuphica]!y (B) materially (C) scientifically (D) spiritually
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68.  Which one of the following statements is TRUE?
(A) An engine-driver is cleverer than Plato or Socrates.
(B) Plato or Socrates is in no way inferior to the engine-driver.
(C) Plato and Socrates surpassed the engine-driver in every respect.
(I2)  The engine-driver cannot be compared to Plato or Aristotle.

69. In this passage the author mentions Plato and/or Socrates to emphasize that
(A) they are/were men of great scholarship
(B) people as individuals in the modern age are not more advanced than their
predecessors
(C) the engine is a better mode of locomotion than Plato’s chariot
(D) Plato and Aristotle had greater respect for learning

70.  According to the author, the present age is far more advanced than
(A) all the previous ages in some respect
(B) the age of Socrates and Aristotle in some respects
(C) some of the previous ages in all respects
(D) all the previous ages in all respects

71.  Many of us make use of machines
(A) with very little knowledge of their mechanism
(B) withoutany knowledge of their historical significance
(C) with full knowing of their genesis
(D) without knowing how they were invented

Direction for questions 72- 76 :

In each of the following questions some of the sentences are grammatically correct and
some are incorrect. Find out which part of the sentence has an error and mark that part. If there
is no error, mark ‘D’ as your answer.

Questions :

72, The conduct of many boys and girls / is not what / they should be.

(A) (B) (©
73.  The boys objected to / the allegedly illegal parking of trucks / belonged to the firm.
(A) (B) ©
74. The committee was divided / on the issue of selecting their representative / for the
(A) (B)
forthcoming conference.

(©)

75.  We were about to hire a taxi / when John stopped his car / and gave us a lift,
(A) (B) (©)
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76.  Hardly had the sad news / reached her ears / when she broke into tears,
(A) (B) (©)

Direction for questions 77 - 81:

Below several disarranged words are given in each question. Arrange them in proper

order so that it makes a sense and indicate the index (A or B or C or D) of the word you have
chosen to put LAST.

Questions:
77.  practicable this seems proposal
(A) (B) © (D)
78.  congratulated success on [ him his
(A) (B) (©) i (D) -
79. bees attract and flowers butterflies
_ (A) (B) © (L)
80. he in get the up morning
il (A) (B) — (©) (D)
8l. ago met she me years
(A) (B) = © (D)

Direction for questions 82 - 86:
Choose the right alternative which is OPPOSITE in meaning to the bold typed word.

Questions:

82.  Her book is full of long, convoluted sentences.
(A) straight (B) complex (C) simple (D) round-about

83, She is a lady of exquisite laste.
(A) abnormal (B) detestable (C} delicate (D) unsound

84. His translation is oo literal to be interesting.
(A) verbose (B) prosaic (C) figurative (D) poetic

85.  We went to the first floor through the rickety wooden stairs.
(A) stable (B) old (C) narrow (D) uncomfortable

86. There is not a trace of vanity in her behaviour, o
(A)  humility (B) selflessness (C) modesty (D) dignity
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Direction for questions 87 - 90:
Choose the correct alternative which can substitute the given expression.
Questions:

87. The lower part or mouth of a river.
(A) Estuary (B) Basin (C) Delta (D) Tributary

88. A small hut for keeping dogs.
(A) Dog-house (B) Crib (C) Stable (D) Kennel

89. Yearly celebration of a date or an event.
(A) Birthday (B) Anniversary (C) Jubilee (D) Centenary

9. A person who is in charge of a museum.
(A) Caretaker (B) Warden (C) Superintendent (D) Curator

Direction for questions 91 - 95 :
Read the following passage carefully and answer the related questions.

PASSAGE

Aldinga reef is a watery paradise, a teeming sea jungle, a happy hunting ground for
underwater spear-fisherman like myself, Forty of us each in black rubber suit and flippers,
glass-windowed face mask and spear-fishing gun were waiting for the reference’s nine-O’clock
whistle to announce that the annual South Australian skin diving and appear-fishing
championship competition has began. Each of us would have five hours to bring in to the judge
the biggest bag, reckoned both by total weight and by number of different species of fish. My
own chances looked good. I had owned the 1962-63 championship and I had been runner-up
the next session. | had promised Kay that this would be my last competition. I meant to clinch
to the title and then retire in glory, diving thenceforth only for fun, when Kay and [ might both

want to.
Lesser sharks - like the Bronze whaler and Grey nurse - are familiar to skin divers and

have not proved aggressive. Fortunately the dread white hunter or “white death’ sharks, caught
by professional fishermen in the open ocean, are rarely seen by the skin divers. But as a
precaution two high powered patrol boats criss-crossed our hunting area keeping a wary

lookout.

Questions :

91. The author was so optimistic about his success due to the fact that
(A) he was a good swimmer
(B) ha was a good sportsman
(C) he was one of the competitors of South Australian skin diving and spear fishing
championship
(D) he owned championship last year and was a runner-up for the next session
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95.

Aldinga reef is a paradise for those who

(A) love to take bath in the sea

(B) love swimming,

(C) like spear fishing in underground water

(D) like to contest for the Skin Diving championship

The competitors were evaluated in terms of the

(A) total weight and number of different types of fishes
(B) number of sharks killed

(C) amount of time spend under the waler

(D) number of fishes caught

To protect the skin-divers from the ‘white death’ the authority

(A) took no measure at all

(B) provided them with the safety measures such as glass musk, black rubber suit and
spear fishing gun

(C) provided two patrol beats for searching the place and protecting them

(D) arranged the competition in such an area of the sea where the ‘white deaths’ are
rarely seen

The most suitable title for this passage would be
(A) Dangers under the sea

(B) Story about spear fishing championship
(C) Shark and the Swimmer

{D] None of these

Direction for questions 96 - 100:

For each of the following sentences four alternatives are given. You are required to choose

the correct meaning of the IDIOMS given in bold in the sentences.

Questions:

96.

97,
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The sight of the accident made my flesh creep.
(A) worried me (B) frightened me (C) confusedme (D) drew me attention

The members of the group were at odds over the selection procedure.
(A) acting foolishly (B) in dispute (C) unanimous (D) behaving childishly

After sowing his wild oats Ram has decided to stick to the straight and narrow path in
future.

(A) becoming a gardener

(B) becoming a farmer

(C) a period of wildness

(D) going through a period of irresponsible pleasure seeking
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99. * His most trusted friend proved to be a snake in the grass,

(A) cowardly and brutal an unreliable and deceitful person
& | (C) o hidden enemy (D) low and mean
‘ 100, When he tells stories about himself, he is inspired to draw the long bow.

(A) get excited (B) exaggerate (C) getemotional (D) underrate
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101.

102.

103,

104.

105.

106.

107.

e ———— —-

GENERAL EWAR ENESS

Questions : 50

A fresh an egg ; the it is to peel.

(A) less, difficult  (B) more, difficult (C) less, easier (D) more, easier
e B A ai e sen

(A) =, yfiwa (B) afers, yfifwm  (C) @, WM (D)  firs, aar

Which country, on the map of world, appr.-ars as "Long Shoe"?

(A) Portugal (B) Iraly Greece (D) Hungary
fava ¥ wmfas w7 w 9 g Hﬁqﬂ"aﬁmmt ?

(A) (B) e () TH (D) ®H

Who declares the financial emergency ?

(A) President (B) Prime Minister (C) Finance Minister (D) None of these
Tt s feafa i soon <9 Fw@ ¥ 2

(A) Trafd (B) Wurd Wt (©) famw (D) T4 A Fré T
Who was the Chief Guest at the Republic Day celebrations of India in 20197

(A) President of Thailand (B) President of Malaysia

(C) President of South Africa (D) President of South Korea

2019 % ¥ ¥ noreF Raw s § g afaf el ae

(A)  wrfds ¥ gufa (B)  =eifirar & agufy

(C)  =firor afivenT & wregafy (D) afdror @ & arsafy

Which state government has launched a free household power connection scheme

‘Prakash hai to vikas hai’ for the poor in the state?
(A) Punjab (B) Uttar Pradesh (C) Harvana (D) Rajasthan
T T ¥ f T T FORT Y R e fael e S e & e 0

Y& w7
(A) w4 (B) ITHEHA (C) wfeamm (D) AR

In India, the Kargil War is also referred to as

(A) Operation King (B) Operation Dharohar

(C) Operation Watan (D) Operation Vijay

e §, wRfiE gg ® oft T A R

(A) FREEfET (B) dUvwHudw () deFadd (D) i Rey

The world's tallest and longest glass bridge has opened in which country?
(A) China (B) North Korea (C) SouthKorea (D) Japan
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108.

109.

110.

111.

113.

iy 2w 3t forv 97 wreitem v T ot v 33 i et o 2

(A) == (B) Im#fm  (C) Fwafm (D) A
The Betla National Park (BNP) is located in which state?
A) Punjab (B) Tharkhand (C) Haryana (D) Himachal Pradesh
T WA (BNP )RR T # smaftem 7
(A) o= (B) wREs (C) wftamon (D) fiae w2w
Which one of the following is the national aquatic animal of India?
(A) Saltwater crocodile (B) Olive ridley turtle
(C) Gangetic dolphin (D) Gharial

fr=fafias & | 29 vy # wig ser sia 7
(A) THHA gt e (B) sl foset wgan (C) MAE EEwE (D) wfgmE

Which of the following statements are correct regarding The Aadhaar?

1. Every citizen is entitled to obtain an Aadhaar number.

2. To verify the identity of a person receiving a subsidy or a service, the government
may require them to have an Aadhaar number.

3. Biometric information will not be shared with anyone even in the interest of national
security.

(A) 2only (B) Bothland2 (C) Both2and3 (D) All1,2and3

:ﬂvmﬁaﬁmﬂﬁnfafmﬂ#ahmwvﬂt?

1. WEF A U 3NE TE T F EREE R
2. wfegd o1 Fa1 A = F TR S ST o w4 # (60 9T I69E A

T F1 A F G
3. arifrE s fEd F1 G Eh aw aw fe wi gen % fa % e o ad
(A) fak2 (B) 1W@2%r (€) 2TE3 A (D) 1,2wE3 @it
Grilling is an example of Cooking,
(A) Moist heat (B) Dry Heat (C) Combination (D) None of these
fferm an q@ar H o0 @ o TN R )
(A) % ™ (B) sp=h il (C) fa= (D) i & rd o

What will be the foundation day of Jammu & Kashmir and Ladakh as Union Territories?
(A) 1#September, 2019 (B) 30t September, 2019

(C) 1% October, 2019 (D) 31# October, 2019

iy i @l i erera 5 v sl a1 TR e i T e

(A) 1fdar, 2019 (B) 30Rw@w 2019 (C) 13IgR. 2019 (D) 31 3R, 2019

Which of the following rivers is famous for the spectacular Jog falls? |
(A) Mahanadi (B) Sharavah (C) Godavari (D) Krishna
0 A F E T e s e F ford wfes @ 2

(A) W (B) Yt (C) T (D) Fom
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114.

115.

116.

117.

118.

119.

120.

121.

122.

A

Which of the following cities has been named as the World Capital of Architecture for
20207

(A) Pune (B) Riode Janeiro (C) Paris (D) Melbourne
2020 3 fer FreferRaer & & faver a1 @) areg-aver & Ry wroreref & s & sifiver Rsam mar 87
(A) gor (B) Rardsfar (€ WM (D) AR

Who will NOT be honoured with Bharat Ratna 20197
(A) Nanaji Deshmukh (posthumously)  (B) Dr. Bhupen Hazarika (posthumously)

(€) Pranab Mukherjee (D) Balwant Moreshwar Purandare
A V&1 2019 3 R sy 7t s s

(A) AT AT (RO (B) . ¥t woay (Rvivavien)

(€) W it (D) e HIa qEey

Which of the following trains has been named as Vande Bharat Express?

(A) Deccan Odyssey (B) Golden Chariot (C) Lifeline Express (D) Train 18
freifefiaa 3 & 5 & &1 ad wra ganrg 7 R 82

(A) F@=anfesft (B) wfve (C) FTFHATET T (D) $18

Former foreign minister Sushma Swaraj passed away. She became the Foreign Minister in
the year

g feer elt e T Sft a1 e g 8 1 98 e ad Rde et & off?

(A) 2016 (B) 2015 (C) 2014 (D) 2010

The Uri Dam is located on which river in Jammu & Kashmir (J&K)?
(A) Beas River (B) Chenab River (C) Ravi River (D) Jhelum River
7t Aty sy FeET & a9 w fem 7

(A) faars =t (B) == &t (C) et =2 (D) Few =&t
What makes lemon sour?

(A) Oxalic acid (B) Citric acid (€) Ha (D) Tartaric acid
g @ @Er Ha a=war §?

(A) rwmfas ofiz (B) @sfis ofds (C) HCL (D) zref® ofas

Which of the following is the India’s first online radio station?

(A) RadioSansar (B) RadioUmang (C) Radio Aadhaar (D) Radio Teacap
afafaa F & 9 @ sra &1 g Hdieaa WAy 2 7

(A) IR §uR (B) A F#ar (C) IR smur (D) = &%y

Baking Soda is basically
(A) sodium carbonate (B) sodium sulphate
(C) sodium bicarbonate (D) sodium bisulphite

EELRIE R GRS E I
(A) wifegm gtz (B)  Aifzaw aedz (C) #feay amgartz (D) @iftaw agaeweEe

Who won the 2019 edition of men’s singles US Open Tennis title?
(A) Novak Djokovic (B) Roger Federer (C) Rafael Nadal (D) Daniil Medvedey
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123.

124.

125.

126.

12-?;

128.

129.

130.

A

oY % et QU S 2R 2019 3 e Ry ol
(A) mdefE  (B) A hew (C) et TeTeH (D) et daddg

Which state government has launched 'Mukhyamantri Tirth Yatra Yojana' for senior
citizens?

(A) Odisha (B) Jharkhand (C) Delhi (D) Punjab
fe o weaR ol & forg et efted amar g e H 87

(A) sifsm (B) W& (C) foeeht (D) o
Where is the headquarter of the World Health Organisation (WHO) situated?
(A) Washington DC, USA (B) London, UK

(C) Paris, France (D) Geneva, Switzerland

farea Ty §1e (WHO) &1 qeamay sl fer 87
(A) aRmeTdd gowe  (B) @EA, gy (O) Rw, Wi (D) frrar, Ragerers

Which of the followings is NOT the part of the Chandrayaan-2 mission?
(A) Lunarorbiter (B) Vikramlander (C) Pragyanrover (D) Drushti Telescope
Fr=iferfiae & & @i a2 R o e adt #e

(A) T fder (B) ReEd (C) weT AT (D) ==& eliany
The Moti Masjid was built during the reign of Shahjahan at

(A) Shahjahanabad (B) Delhi (C) Agra (D) Lahore

Hidt nftwz mEwer & arHEETe & 2R o AT T T |

(A) METEFIETE (B) fecef (C) SR (D) @mER

Who is the new RBI Governor of India?

(A) Raguram Rajan (B) Shaktikanta Das (C) Uprjit Patel (D) K.C.Pal
MIRT & 7Y RBI TaE &1 &7

(A) TR T (By srferaprar &R (C) SRiagea (D) & g

The temperature, at which the same value on both the Centigrade and the Fahrenheit scale
exists, 15

ar ammy, forast GA0E R FRAEEE W 21 O UE 99H 9 BT s, &
(A) 40° (B) -40° € 3 () -32°

India’s longest rail-road bridge ‘Bogibeel Bridge” has built over which of the following
rivers?

(A) Ganga (B) Godavari (C) Yamuna (D) Brahmaputra
YR BT FaY Fa1 Y-8 et il faor Fefofaa 3 9 few st wamr g?

(A) T (B) e (© g (D) A&
Which company launches World's first GST calculator?

(A) Casio (B) Orpat (C) Texas (D) Lenovo

fav At  gfva @1 qwel GST Fergeiey di-a [

(A) @i (B) silviE (C) (D) A
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A

131. The standard ratio for cooking Basmati Rice is parts waterto______ partrice

by volume. '
ATAAT A O A o WA R aftr d W ae Wi arae & A |
(A) 175,15 (B) 1.75,1 (C) 35,1 (D) 4,3

132. Which one of the following is the highest gravity dam in the world?
A) Beas dam (B) Hirakud dam (C) Nangaldam (D) Bhakra dam
% 3 B 1 g T AR ST Reardvy e Ay &7

(A) = Ay (B) #Rigpe ama (C) et amy (D) WS ary
133. World Blood Donor Day held every year on

(A) 14% June (B) 15" June (C) 18 June (D) 20 June

forea v 1 Raw sw et &Y arrafore faar e )

(A) 1497 (B) 1597 (Cy 1857 (D) 2097
134. Who is to conduct the elections to the Panchayati and Municipalities?

(A) Central Election Commission (B) State Election Commission

(C) Central Government (D) State Government

et it TR aiferarai @ gamE B w7

(A) Y@ AET (B) ISWGAE AN (C)  HE WHR (D) T TSR

135. Which country will host 2022 World Cup Football?

(A) Mexico (B) land (C) Russia (D) Quatar

I HT &1 2022 Rrwary pedter H Ao@rt w7

(A) s (B) et (C) =7 (D) ®aR
136. The Zojila pass is located in which state?

(A) Sikkim (B) Arunachal Pradesh

(C) Jammu and Kashmir (D) Himachal Pradesh

HfFer a7 frw usw A7 fa &2

(A) fafdss (B) vomae wixr  (C) w5 it i (D) R#maw w2w
137, Which one of the followings is the largest foreign exchange earner of India?

(A) Tobacco (B) Leather (C) Electronic (D) Tea

Feafafla & & #t9 sRa & wad a3 ARl 7 & s §2

(A) arrE (B) ST (C) xS (D) =g

138. Ripe mangoes contain
(A) witamin A (B) vitamin B (C) witamin C (D) vitamin E
qigET W A grar

(A) faafaa A (B) Rafa=B (C) frafderC (D) Ra@aE
139. Who appoints the Governor of any state in India?

(A) Member of the Parliament (B) The President
(C) The Prime Minister (D) The Chief Justice of Supreme Court
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140.

141.

142,

143.

144.

145.

146.

A

WA & Rl of Tow ¥ geuwe f FRfia w9 war §7
(A) wez & W (B) URWR  (C) wumwdh (D) wafew S & e s

In which part of human body urea is produced?

(A)  Kidneys (B) Liver (C) Pancreas (D) Urinary Bladder
anra i & e ey @ g @ 19

(A) T (B) Tpa (C) Hr=m (D) Famr

All of the following spices add heat EXCEPT

(A) black pepper  (B) red chilli (C) greenchilli (D) bay leaves
Feaferftra it i & & o % seman min ol s s ¥

(A) &t B (B) e fd (C) o fd (D) 4 g

What is the name of India’s first Mobile App created to provide scholarship to students
from poor and weaker sections?

(A) Shikshavritt (B) Padhega India

(C) Har Ghar Scholar (D) National Scholarship Portal
n&aaﬂrmmﬁﬁmﬂ#mﬁﬁa[ﬁhﬁq}mmtmmmmtqﬁ
Haes 09 F ATH F11 82

(A) AmRd  (B) WwsRm (O WW R (D) R FHEAT G

Which infectious disease is considered deadliest in the world?

(A) Tuberculosis (B) HIV (C) Dengue (D) Malaria
faa f #t7 @ dFAE HArd FEd aEd A S 87

(A) awm (B) T g & © & (D) FfRa
The state which does NOT have a boundary with Bangladesh is

(A) Manipur (B) Mizoram (C) Tripura (D) Meghalaya
Fia ar usy atveey & @A o A A7

(A) AT (B) s (© B (D) Furea
‘I-League’ is associated with which one of the following?

(A) Football (B) Cricket (C) Table Tennis (D) Hockey
s frfata & @ fead @ o g 82

(A) Fead (B) Fee (C) Zua 2w (D) gtdr

Who amongst the following was renowned in the field of instrumental music - the
Shehnai?

(A) Ustad Alla Rakha (B) Ustad Bismillah Khan
(C) Ustad Amjad Ali Khan (D) Pt. Vishwamohan Bhat
frafafaa & @ &7 agy #@fa Al & a7 A gfdg 47

(A) ITAE Ieam TEr (B) 352 RfEaear @

(C) I+ IwAse I as (D) dfEe fasgst oy
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147.

148.

149,

150.

A

Which one among the following states has the largest amount of coal reserves in India?
(A) Andhra Pradesh (B) Chhattisgarh  (C) Jharkhand (D) Odisha
Feafaf@a asat & & e Tow & e & wad aw S w7 R

(A) 3mer g (B) oehag (C) wmw@s (D) 3ifEanm

The 2020 Summer Olympics will be held in

(A) Madrid (B) Buenos Aires (C) Istanbul (D) Tokyo

2020 Frewawrehe e # 3 Rear smeem

(A) A (B) =grw vl (C) g (D) e

Which renowned personality has been named as the brand ambassador of Tribes India?
(A) Deepika Padukone (B) Mary Kom

(C) Sachin Tendulkar (D) Sania Nehwal

R wfte safdaca ) SR Sierenfa & ais tawst w9 3 afda fear e

(A) dfFTaE=  (B) Adwfw (C) wfRsdgasy (D) WrgemAgara

Which UT/state government decided to impose a ban on single-use plastic products from
1st March 20197

(A) Tamil Nadu (B) Puducherry (C) Delhi (D) Karnataka
[ UT/ 350 SR 7 1 919 2019 § ha-rd1ied Iame] & I9arT v iy s &1 iy form

(A) afterrg (B) T () Rl (D) wifes
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